PHYSICS

If during circular motion, tangential velocity of a body becomes double, th,,

centripetal force becomes:
Double
One half
Four times

D.  One fourth

Under what condition an object will have zoro displacement but non ze

distance?

A, Linear molion
B. Circular molion
C. Random molion

D. Oscillation
roperties IS not exhibited by the longitudinal waves?

Which one of the following P
A. Inlerdarence

B. Reflection

C. Diffraction

D. Polarization
m / s. The speed of sound at 22 *C will be:

The speed of sound In air is 332

A, 3452 mis
B. 340mfs
C. 350m/s
D. 330m/s

Astronomers calculate speed of distant stars and galaxies using which of the
following phenomena?

A. Beals
B. Inlerference
C.  Super position principle

D. Doppler effecl
If the

In a ripple tank, 40 waves pass through a certain point in 1 second.
wavelength of the wave s § em, then speed of the wave is:

A 0.5ms?
B. 1ms!
C. 1.5ms?
D. 2ms?!

In which process the entire of heat supplied to the gas is converted to the

Internal eneray of the gas?
A. Isochoric process

B, Isobaric process

C. Isolhermal process

D. Adiabalic process

The in
1 DLE;:I:E:WEF of a system dUring an isothermal process:
B. Increases

C. Become zerg

D.  Remain constany

06.



10.

1.

12

13.

14.

15.

16.

17.

If the potential a4
a point which ig 51 POint

B i w:yj.,..:;\\f ‘(_Jw“ arr

qvoll thon the potontiar e
I8 i

mfy .whl 0
& LN oM thy "1m[nml‘h'fg
B 1v Samg or 0, will DO

% charge W

C. 0.5v arg
D. 3v
The values of gjg sance of dieloctric
medium: THie inteng;, 4uo to the pre
A. Increase Y wiy - -
B. Increase exXponent:
C. Decrease Entially

D. Remain same

The slope of distan,

A. Negalive e
B. Positive

C. Zero

D. Maximum

lim :
® 9r3ph iy gtways B

At what angle i

maximum vaElluq?u' Projection of 5 pm]ccﬂhr the
A. 150

B. 200

C. 30°

D. 400

range bocomes half of Its

ject, its ini "w?
:we;;:lp an object, its initial velocity is zoro. How far will it fall in time
B. 49¢
C. 049p
D. g8¢

The newton-second is unit of:
A Work

B. Power

C. Impulse

D. Momentlum

A 1.75 m heighted weight-lifter raises weights with a mass of 50 kg to a height of
0.5m above his head, How much work is being done by him? (g=10ms-)

A 2125

B. 2500J

C. 504

D. 12254

: llic bob at mean posi
What is the speed of 2.0 Kg meta Posilion of a simple pendulum,
when released from its extreme position 0.5m high? '.'E-"‘Iﬂmﬂ":'
A. 316ms”
B. 10ms’
C. 100ms!
D. 50 ms

1ﬂ|“d| h W
When the speed of your car * ‘ Y What factor does fis Kinetic enorgy
decreases?

A, 112

B. 14

C. 118

D 16

30tz 06248
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e forc
which ent of the following
1 AT ||..I|4.1-I'|.l| jarce
] I.Tuun'll..'ilull'liﬂ {nice
G 'l lechic 'I:Irr::; -
p Elashc SRR : b Lo
s 18 2 e e s
By

ih ro
e i fhat Its fﬂdius :rﬂﬂﬂnﬂ

19.
acls S0
E::I:will take 10 complet®
A 24 Hours
18 Hours
i Hours
p 12 Hours
20. { radian is gqual to:
A 571
p 572°
c 5713
p 574°
In transmission from grid station, power losses are minimized by:

A Increasing currenl

B Decreasing current
C Increasing esislance
D Increasing vollage

21.

The domestic glectricity supply has a frequency of:

A 150Hz
B 100 Hz

4 c 50Hz
i/ D 25Hz
23. PIV stands for:
A Posiive inverse voltage
B Power inlegraled vollage
C Peak inverse vollage

D Peak inlegrated voliage

22.

In full wave rectification, the diodes are used:

24,
A 1
B 2
c 3
D 4
. e wavele .
= .Ih "::lblﬂ I;ﬁh assoclated with an gfectron is of the order of:
B X-rays
C Rado waves
D infrared
26. Which photon car
A Blue ries the mosy energy?
B Violel
C Red
D Green

o -l
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* galmer series
B pascher series

Lyman sefies
E' prackel series

The main difference boty,,
2%, Frequency
wave length
~ Energy
p Origin

nUHE u
*lieg jn th°

is
en x Fays and y ay*

would be the number

™. hat
There are initially 400 atop, "

= mPIB.
= of atoms after 3 half-life? %10 3 fagigactive s3
a 400
g 200
c. 50
D. 25 Heamd BT
10. WEHE* I.l::l'p'lg‘ radiation 1hemprr cancarolis U'l‘ffp'd IS
ioiso -
E Carbon
g, *uranium
C. Thorium
D, lodine-131

31, In capacitors, energy is stored in the form of:
A Gravilalional energy
B. Kinelic energy
C. Electric inlensity
D. Magnetc induclion

3z2. Ohm time's farad Is equivalent to:
A, Time
B. Charge
. Dislance
D. Capacitor
d as one commercial unit of electric energy
13. One kilowatt-hour is commonly terme
which is equal to :
A 36x10°]
B 36x10°]
C. 36x10°]
D 36x10%j
d it's radius becomes 2R then its resistance will
34. When a wire is compressed an
be:
A 16R
B. 4R
C. 1/16R
D 1/4R
i dovices
35.  One of the following is an ohmic d
A Filament bulb
B. Semiconduclor diode
C.  Transistor
D. Copper wire

06248
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T T Dolgy, oe %

[ ur";.“ -
» chang® In rosis
JE Th‘ Non Iln!"‘“
Cune
Lineal two |
fineal ugh ong pa
D GV ing thr® rallel wire
ow S in
When current ;:“ﬂr:, them IS Same Airee,,
37. ”n.l‘d bo "
olectric
A Srongd
weak
g Remains same
Infinite ang'e betweg :
D. s maximum whe" N Magnetic field ang vector 5,
ta h

Hagﬂﬂﬁﬂ flux
A D¢

B. 90?

c. 180°

D 45°

38.

.

: teps UP Or ste
Transformer is a device which st2P= Ps down the input:
39.
A Current
B. Vollage

C. Energy
D. Power

N

aced Near a cojl at rest so maximum lines of fore;

is pl
ar magnet ISP Sheter shows.

. |f a stationary b n
= passes through the coil, the galvan
A Maxamum current
Minimum current

B
C. No curreni :
D. Intermediate value of curren

CHEMISTRY
3 41. Alkyl Halides involving -C-X bond breakage and -C-Nu bond formation
simultaneously would follow the mechanism:
A S
B. Sw
C. E
D. E2
42. Secondary alkyl Halide is:
A CHs
H— C—clI
|'
H
B H
l
H
C ?H_‘l
CH]-—c___c'
|
D. CHiCi
Far!
O-
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47.

49,

— T 'ﬂ‘r
R-X on reaction with alcoy, .'ﬂ"h

A R.OM oly g,

B ROR M-

Cc R-X-0OM

0D RH

(UFAC name of E"Hiﬂll‘:H

A 2-Methyk3-Heranon, 0 I8
] & - Dmethyl E‘-tl-;::

> 3-Methyl cytiohexans

- Eha
D .*.-I'.'!z,h,h}hatancng

[

Nona

Phenol is known as:
Campohs anid
Carbanyic acid
Carbolc amd

cartalyhic and

=) m 3

Phencl is more acidic thy :
= nal [lowing reason.

A Delocalization of Negative E“-ﬂh.nh because of the fo

B Delocalzaton of posqye pne ¢ N the OH 9'0UP

C Delocalzation of negar. . >

e m in nng
D Dsloca Jative r 2= 21 the carbon 810

iZation of Positne Lﬁﬁa'.;:%.&,:.iul.l;ﬂnﬁ;gglﬂup
The common name of fo)| Py
Cl—CH:—CH-CHO "3 aldehyde is:
|
CHa
g - methyl =Y - chiarg Propians
CRIgnay
G- Cl':|-:ﬂ'ﬂ = Y —methyl Prenicr 5:_-:;?;2
% =chipm—-ao= melhyl Elrl:!'plz.‘-:af-;;.h-l.-de
b —msthyl = o — chiern Prapions :;*n_fde

Which of the following reagemt

ocimp

carbonyl compounds? is us2 to separate and purify carbonyl and non-
A HCN
B BrMaoCH:
C NsHSO:
D H:O
Secondary alcohol is the product o reduction of which carboiiyl compound?
A 0
I
CH:—C—H
B 0
I
CHy — C ———-CHs
c 0
I
H—C——H
o 0

Il
CH:»-CH; —-C——H

Lo acat acidy
Which of the following is the ="

Prapanoic acid

Flouroethanoic acid

Tnchioroethanoic acid

Nitreathaneoic acid

oOom»
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. ”
ion of:
Hydrolysis of acyl chloride results In the formal
A Acitl anhydrnde
o Carboxylic acid
c Amides
D Eslers

51.

os is!
The oxact reactivity order for carboxyllc acid derivativ
A Anhydnde > Acylchlonde = EEIIEI
g Ester > Anhydnde> Acylchlonde
C. Amide > Acylchlonde = esler

ler
D Acylchlonde > Anhydride > €S |
| proteins may be classified into

52.

Based on the physico-chemical properties,

following types:
A Simple proleins

B Compound proleins
C.  Derived proleins

O All of the above

53.

N

Based on function, thyroxin can be classifled as:

A, Hormonal prolein
B Struclural protein
C. Transporl prolein
0. Genelic protein

L-Asparaginase cnzyme has been used for the treatment of:

A, Jaundice

B. Blood cancer
C. Rickels

D. Heal disease

Potassium, Rubidium, Cesium react with oxygen to form which types of oxides?

54.

55.

56.

A, Peroxide
. B Superoxide
" €. Suboxide

. D. MNormal axide

5§7. Magnesium reacts with Nitrogen to form:

A Mg:N:z
B. Mag:N:
C. MgN:
D. MgN

58. Densities of alkali metals are low dye to:
A Weak intermolecular lorces
B. Large atomic volume
C Smaller size
D ns'Configuration

59. In 3" series of iti
s transition nlemanh. paramagnetic behaviour is maximum for Mn*?
A. Cr*
B Ti»
c v
D 2Zn%

Dima @« 74
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ic Cﬂﬂﬁgma“nn "
'] 452 tl]r !
A 34 47 o proton "

lement wh;

. ransition € i
'ﬂéu unﬂnllshﬂw ya
.FI ‘; Sc

C. Zn

D. cr

ject the Organic compoung,
i cHz= CHz

[ GH:—- U - CH:I

E' CH3— NHz

D: CsHa

type of isomerism existing H‘!tumpound of mo
6 i unctional group
E!-: Position
Chain
o Metamerism

hich polong® *°

is:
jecular fn:rm'lu!a C3:HsO

grism?
tric jsom
{lowing compounds show geome

i fo
., which of the 1o 0

A

D

CHa
CHa

s
6. Generic formula of cyclod

P'-- CnHsz

B. CaHzn

ﬂ. CﬂHin-'I

D. [:qc-H n-2 ¥ H-_LH'B iﬁ-:

l't::r"?'IJrT
ali
. Electrophile in sulPh®"

A. HSOs

B. H:S0s

C. SO

D. HSOy 062‘48
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IS RRISSNC ring, it makes the ring;

Nas greater Kp than K, (Ke > Ke)?

ame as that of tho rate of reaction in:

Ha
-----

s and the factors that affect the rates o

062!
y




Order Unit Wise MDCAT Past Papers Book (2008-2020) Call/WhatsApp 0304-7418334

.

i2.

1,

( o roawivn Mgy -, g

pof 4 the cnn_ﬂenlraliun ul‘!uth actlon increases four lolds,
Whel means itis: Ny rate of re

.‘MEHE gative order react, Toypes, e

A girsl order reaclion

11 zern I:Ide' reaclion

g gecond order reaclign

D

hich of the follgy;,

ortional to the cone ﬂm'-rlimﬂﬂ . reaction:
P4t order reaction

"teacrion?
A ord grder reaclion

Negative order of reactig,
p. Zer order of reaction

ate of reaction is inversely
r
fof

al energy at ¢ _
ThE;T:;p? ay u"m"'“muﬂ; is called:
internal energy
_ Heat capacity
p. Work done

gorn-Haber cycle is used to doterjyg e lattico energies of:
A Molecular solids
Metallic solids
c. lonic solids _
p. Covalent solids

One calorie s equal to:
A 418KJ

B 418J

c. 0418 KJ mol’

D. 0.418KJ

The oxidation state of g™ in the (5:0: % Is:

A #4

B. +6

c -2

0, +2 |
ns Is:

The common oxidation number ef halege

A -1

B +1

C. -2

= ber of an ol !

Ouri idation prncesi.mid""’" pumber of an element.

A. Decreases

B. Increases

C. Remains constant

D. BothA&B

has the h,;_;h{‘SI value of ﬂihﬂ:lrﬂnugati“".’,?
Which of the following hd
A

06248
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B6.

88.

8D.

91.

92.

Unit Wise MDCAT Past Papers (2008-2020) Book is Very Important

“renun s -Characler?

roaction can be expressed as:

clency of chemical

A Theorelical yi2
B, Actual yeld
c-. % }'|Eid

D Maxmum yield

The effi

10g H: and 109 O: are present. Which one will have i

In = vessel, 10 g Nz,
number of atoms?

A H:z

B N:

c 0O

D Balh H:z & N:

The empirical formula of Glucose CeH120s is:

A CaHyDs
B CHO

C CH:LO

D CH:0:

The refationship between quanium number n and | is:
A n=l1

Quantum number values for ‘2" el
A n=2, =1 R

Which pair has

A L a.FF._. 1 electron ip jig +
B Na&Cr

C KE&Mn

D HEHe

s’ orbital?
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g

=

e

- - 5
ineT

If the potential at a point which is 1m from a charge 1= vl
a point which is 2m from the same charge will be:

- -
L] S
- Ll

O, 3

LRY

The values of electric intensity will __ due 10 the presor
medium:

A Increase

B Increase exponentially

s {.111:[11\15'?

D Remam same

The slope of distance — time graph will always be:
A Negative
B Posive

¢ Zero
D Maximum

At what an 2
gle of pProjection of a iocti

. projec - e

maximum value? jectile the ange hoon

A 157
B 20°
C. 30°
D 4Q°

Ifwe drop an obj its initi B o
A ais I__FJ Ject, its initial velocity is zero. Mow far will it fa1

B 49y
C 049¢
D 9§y

The newton-second is unit of:
A Work

B Power

C  Impulse

D Momentum

A i i i
1.75 m heighted weight-lifter raises weights with 2 mas S{
v = vl & Foo5 i |

0.5m above hj

: . 15 head. ) i o
AN 2125 s much work is bf'mg done by Nimr " ip-
B 25004 -
C 50

D 1225

What is the Speed of 2.0 Kg metallic boh 2t mane — - .

trilsmes e
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5 Choose the correct spelling:

A Exa niuated

g Axaniuated

¢ Accenchuated
0 Acceniuated

10

103. Choose the correct spelling:
A Cotioned
B Cautoned
C Causchuned
D Coschuned

104. Choose the correcl spelling:

A Ecceninc
B. Echkeninc

C Akcaninc
p D Acceninc
- 105. Choose the correct spelling:

A Dalinile
B. Defanit

C. Dalanile
D Deafinile

17

106. The Headmastar
A Wanls
B Iswanling
C. Was wanling

107. Chooso the correct optian:
Knowledge and wisdom

A Has
B Have
C Had
D Arme

108. Idontify the Brrors and chgg
' 2 | hopo this letters finds in th

lo speak to you,

no time for connection.

$¢ the correct option:

- A T hope this Igtter w1 find o st af your spirits

/ g : hope this letters fi
hape letler finds
You in
D I hope the letler foung wt

109. Identify the arrors and
Gulliver travel was ijr.:
A Gullver Iravals WIS wr
B Gulliver Iravels wag :
C Gulivers Travals wa
D  Gullivers raye|

nds you i

hﬂﬂln
n h_"! E'HIH‘_
En Tﬁ s 5
en al E"l"ﬂ“

5 Wi ¥
Was wrin lten by Swift

Uin goad of hih spirils
N best of your spint.
best of gpits

Uin greates) of sprite

the carrect option:

Enb?smn

110.  Fillin the blank wii, a

B A
C An
0O Noarticle required

umbrella Is of o CPH218 argicto a5 required:

Oay

Pare 14 nf 24
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11. Choose the correct s J—

A, Iwish | have huenu;':i:'l'ltul
B lwishlam being 5 mm“;nn Ii
C. lwish | were a milliong,, P
D. lwish ¢

| was a millionaye

112. Pick the correct option:
A. Mo slar is brghter Ihan
B No staris more brigh than Gon,
C. Mo slar s brighter thep, the he magn
D. Noslaris brighter than mm;:u“
113. Choose the correctly structyr,
A. Hadhe I.I:'ued i_n England he wq:‘:’-‘nln_nnn:_ —
B. Had he lived in Englang g "'"’Uui[!, miss hs A bis famity
: .I:, Had he II_#Eﬂ In England he had 1 haye mis St
. 'D. Had he live in Englang he wil '“:zl:es;:i:?am“f
L]
B. Pasl Simple
C. PasiPerecl
D. Presen! Perfect
115. Ahmed me for a long time,
A. Know
B. Have known
C. Knows
D. Knew

116. Pick the correct option:

His first innings consists of four 65 and three 4s,

A. His first inming's consis!s of four & and three 4.
B. His first innings consists of four 65 and three 4's
C. His first inning consists of lour s and thiee 4's

r\ D. His first inning's consist of feur G5 3and Ihree 4's,

4 he correctly puncluated senlence;
i ihﬂfﬁ?:;{ i rekioes l:ErE- my I:E'LU”:";'“E“‘ tﬂﬁg live the King!
B. Whal a fall was there' my C‘:””“"":"""' L“”‘-':" live the king|
C. Whata fall was there, my couriler (ou6 Wwe the king,
D. Whal a fall was there, my countrymen, long live (he King,

118. Choose the correct oplion-
A. He and | was playing
B. He and | were playind g
C. He and | were beind P‘“f'm
D He and | was being play"=

119. Choose the correct UF“D:'; a1z 10l

A Every one of the prs® 2wl
B Every one of the l“'snl; pave
C Every one of the prisol®

i
D Every one of Ihe prison:

150124
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.

122,

123.

124,

125.

126.

127.

128.

Has called |
Have called

Have been called

Has been called

oOm>

BIOLOGY

When the temperature of the surrounding rises, body responds by:
A. Vasoconstriclion

B. Vasodilation ,
C. Shivering

D. Raising body hairs

The excretion of hypertonic urine in humans is associated best with the:

A. Glomerular capsule

B. Proximal convoluled lubule

C. Loop of Henle

Distal canvaluled {ubule 1

In humans, the temperature regulation control center is located in:

A, Kidneys

B. Brian '
C. Lungs

D. Liver

As an excretory organ, liver: |
A.  Deloxifies many chemical poisans '
B. Produces ammonia for excretion by lhe kidneys |
C. Produces urea and uric acids fram the nitrogen of amino acids

D. All of the above

The active uptake of sedium in the ascend i

promolted by the action of: 29, Renb o thick 1B0R af Henle I
A. Aldosterone i
B Thyroxine

C. ADH

D. Corisone '
Which one of the following muscle nsi “ "

A.  Smooth muscles ’ " FArdtied e veluntary Muscles"?

B. Cardiac muscles

C. Skeletal muscles

D. Glandular muscles

Which one of the following are “myogenic"” type of muscles?

A Glandular muscles

B. Cardiac muscles

C. Skeletal muscles !
D. Smooth muscles
rhaég::;:r;ﬂ; the cell surface membrane of a muscle fibre?

B Plasma membrane
€. Sarcaplasm

D Myolibrils

06248
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. _WI\WW -.
: th as neurolransmitter and '

129. Which qf the lnllumn fion ko

" dﬂt;ea rogr .'.uﬂﬁ
Epinephyin Sing oy Nsmiftors

e Par ?
Serotanin “eption of paiI"

g Paming

130. Which p
A L.zn:.':"-'|l|r function jg contr itive (ced-back mechanism?
or l:ﬂl‘ltrﬂqmns Olleg throygh pos
iy lemperayra
Insulin Productinn
h‘_l"i"I:IHiﬂ. 'EFEESE |
I

lich one of
the fl‘.}"i}wing is ':'Drﬂl'nun 0 .'l." ﬂeurnnsl? |

ich
3 | B. Athick myelin shﬂ‘;z:"mns a Nuclayg

P
:::Enca of node of Ranvier
- ence of Schwann cells
- Neurans ar
o e cells ag f electrical impul
this, they b apled faor th mission of eig e R
' ave g o
2 ng thin Processes called:

chwann cel|
133. A is a junetion betwe
muscle ce|l: 2N two neurons or between a motor neuron and a
A.  Ilmpulse
r\ B. Syna
P pse
£ C. Axan
D. Clefi

. Which one of th
e following fepresents the changes that occur in the ovary and the

uterus approximately ey :
loss of the lining of ‘IEE u?guig days involving ovulation with the breakdown and

A Ovulalion

B. Menslrual cycle !
C. Uternne cycle '
D.  Embryo formalion i

135. Which of the following diseases is sexuall
A. Tuberculosis ’ Y iranemittact?
B. AIDS
C. Dengue Fever
D. Cholera

1. Which of the following hormones of the pituit
' ¥ gland regulate th
e menstrual

cycle?
A Follicle Stimulating Hormane and eslrogen

B.  Luleinizing hormone and EilmﬁfﬂL e
C. Follicle Stimulating Hormane ard LUl€INZing happ, o

D. Esirogen and progeslerons

. Haemophilia A and B, color blindness and testiy,, feminization are e le of:
A X-linked dominant trat Xamplo oF
Y-linked recessive lrat
C  Y.linked inheritance

Pseudoautosomal tral
pape 17 ol 24 06248
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138.

139,

140.

141.

142.

143.

144.

145.

146.

Which traits are most likely to affect men than women?

A, X linked receEssive
B Xlinked d orminarit
C.  Autosomal dominani
D.  Aulosomal recessive

: alloles both have an effect on the phonotype of a heterozy,,

organism:

A Dominant

B. Recessive

C. Co-dominant
D, Multiple

When both the alleles of a gene palr are same, the organism is sald to be:

A Heterozygous
B Genolype

C. Homozygous
D Phenotype

In which type of cells, cell wall is not present?
A Plant celis

B. Fungal cells

C. Baclerial cells

D. Livercells

705 sized ribosomes are found in the cells of:

A. Algae

B. Fungi

C. Prolozoans
D Baclena

According to the fluid mosaic model of cell membrane, which zone is embedded

inside?

A Hydrophobic
B  Hydrophilic
C Globular

D Filamenlous

The membrane separaling the vacuole from cytoplasm is called:

A Crnslae
B Cisternae
C. Tonoplasl

D. Vacualar membrane

Select the one which is not a function of Smooth Endoplasmic Reticulum (SER)?
A, Melabohsm of hpids

B. Transmssion of impulses

C. Transpor of materals

D Processing of glycoproteins

Which of the following erganelles are involved in the synthesis of plant cell wall?
A Endoplasmic rebiculum

B Golgi complex

C Lysosomes

D Peroxiosomes

06248
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150.

151.

152.

153.

154,

155.

For Online MDCAT Preparation Download MDCAT Guide App
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the
ch property ol water jntal”
ﬂ:;'ihrancs? helps 1o M*
s gpecific heal capacity
Hydrogen bonding
cohesion and adhesion
p. Hydrophobic exclusion
~ Water actas universal solvent because of*
A Heal of vaponzation
B Hydrogen bonding
C. High polarity
D. Cohesion and adhesion e s;rhnhj'dfatﬂﬁ because of:

Lipids store double amount of energy as com
A. High proportion ol Oxygen

B. High C-O ratio

C Low proportion of Carbon

D. High proportion of C—H

Which of the following Is an unsaturated fatty acid?
A, Olelc acid

B Palmilic acid

C  Butync acid

D. Acetic acid

Mono-saccharides have a goneral formula raprasuntﬂd by:

A CniHOIn
8 C[H_c”ﬂ

. CaHO0n
D CrH:Qn

NAD is an example of:
A Mononucleotide

B. Dinuclectide

c Tn nucleclide

D Telranucleolide

Lock and Key Model for onzyme action proposed by Emil Fischer suggests that:
A.  Enzymes are unbiased for the substrale

@ Enzymes can modly (heir aclive siles

C Enzymes are raslricted 1o one reaction type

0 Anenzyme can calalyze varely ol reactions

Most enzymes have an optimum temperature of aroynd:

A 30°C
B. 40°C
C. 50°C
D 20°C

Enzymes work by lowering the —— of the reactions they catalyse:
Kinelic energy -
Aclivalion energy

Heat enerqy

Polenlial energy

cOm>
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156. First stable compound during Calvit Sy
A :.'r-jl!I|:J.".j':lhm',lly.-,p.-,"p
B Glycerataldehyde 3 - Phosphal®
C. 1.3 bisphosphoglycerate
D Ribulose bisphosphate

157. Whal s the function of Ribulose?
A Intermediates in photosynthests

B Respuatory Fuel any
C  Intermediates in cellular respial

D Component of DNA and RNA
as does NOT need Pyruvic Acid as a substrate?

158. Which of the following process
A.  Alcoholic fermentation
B Calvin cycle
C  Aerobic respiration
D. Lactic acid fermentalion
155. Which of the following is a copper containing protein in eloctron transport chain?
A Plasloquinone
B. Cytochrome -C
C. Plastocyanin
D Femredoxin
In electron transport chain, ATP synthesis takes place when electrons move from:

A Pnmary Eleclor Acceplor (PEA) lo Plasloquinone (Pq)

B, Plasloquinone (Pq) lo cylochromes
C  Cytechrome lo Plastocyanin (Pc)
D Plastocyanin (Pe) to Photosystem | (PS J)

160.

; / 161. “Law of independent assortment™ states:
V A That each pair of alieles asson mdependently of olher pairs of alleles during gamets

formalion
B That alleles of each i
pair of conlr
the alloigi of bitier g asling trail have unequal probability to assort with
C Thatlhe two c
Méiosis. so m;z’:ir;lng;::ﬁ'ﬁ lor each trait segregate (separate) from each other at
D, Thitpsiginrs mhenhg ele receives only one ol the two alleles
“nce of single 1ran (monohybnid cross)

162. Phenolypo is:

A The genelic com
Plemeny
B Pannerof gene pay | C M€ G@nes in an individual for a particular (raif

. The form ol dppea 'l
[ fdmnce
. ol g Ir
D The Fosiion of d Hene on the EI'I': some
Omo

163. In complelo dominancg:

A Different allela
ul a5 ':'r a
B Cne Jillesloe iR O€ne e |
S )15 com 0th exnrpoge e
Pt xpressed in |1[?l‘|3;uz},qn”5
e fol{jihﬂ."

fecessive alle)s i5 | -¥ Ug
uncy. Mmant over the oth
phenalype ; N e {rl an 5
@ W m"_f 5 RR) WMoy idden, so Ihe helrozygote (| Ihe presence of the
! Phenotype of 4, ' @ 2 2 (R1) has the same d
“ﬂ""ul':lruﬂll’.'ﬂ 1!_1““*"'””' i & foun
D Gene mulationy My firgy * 18 ilenmediale beiween Phenotypes of the nw
. z 2 hwo

"any ditferent alleles of a gene

(aTaa V. lo



167.

168.

169.

170.

171.
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ich one of the following is fou
F ammalian cell?

Daouble fielical struciure

Ribose sugar

G Th':lrl"l"lnlf'lﬁ'

D Sugaf — phosphate backbone

o

The cells in our body are all genetically jdentical.

A Somalic cells

B Reproduclive cells
C Muscle lbres

D Whie bload cells

Transcription is the process in whi

coding the gene is produced with the help

A DNA polymerase
B. RNA polymerase
C DMNA transcriplase
D. RNA transcnplase

The particular array of chromosomes
A Genolype

B Phenolype

C Karyolype

D. Alele

During meiosis, the homologous chromosomes

this process is called:

A Linkage
B Synapsis
£ Painng

b Crossing over

nd in bo

apart from the:

e :nnf an enzyme called:

ih messenger RNA ang oy,

ol a

RNA copY of the DNA sequence and

that an individual possesses is cailed is:

At what phase the DNA contentof acellis doubled?

A Prophase

B Interphase
C Anaphase
D Telophase

Which statement correctly describes
A It produces amino acids
B. Il produces messenger RMA

the transcription of DNA?

C It resulls in increased DNA synthesis

D Il is a semi consenvalive process

This theory says that “mitochondria and chloroplasts are. 0 affectl.
bacteria which now live inside the larger cells™:

A Darwin's theory of evolution
B Lamarckism

C Neo-danvimsm

D Endosymbiont theory

The organs which are similar in funet
Analogous organs

Homologous organs

Convergent evelulion

Divergent evolution

onmo>

ion but differ in structure are called:

rape 21 of z.‘.

come together and form pairs,

ancient
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173.

174. The DNA that ha

urar == urT BUIG A10J0s 4 g,
-

|
pcelrn pocaus?® !
survival than othors: -
A Filness |

0 Evolution

C Crossing over
D Adificial Sele and which now contains length of nuclony,
1

s hoon ﬂ"“"’;ﬂ 4 a: 3
two different organlsms |s ca

A Plasmid

B Combined DNA
C Veclor

D Recombinant DNA
yon of a very large number of copies of 2 Partizyy,

175. It is a mothod for rapid produ¢

176. What

fragment of DNA:

A Gel elecliophoresis

B Polymerase chain reaclion
C DNA extraction

D Recombinahon

is the effoct of enzyme DNA ligase?
A DNA is broken up at specific siles

B DNA lragments are joinied fogether

C DNA rephcalion occurs

0 DNA tianscnplion occurs

177. Which of the following is the components / tools of recombinant DNA technelogy?

A Gene of inleres!

B Molecular scissors
C Molecular glue and expression syslem

D Allof the above

178. Gol clectrophoresis Is a technigue:

A Employed by lorensic scienlisl (o assist in Ihe identification of the individuals by thes

respective type of DNA
E ﬁm;ﬁlcé :::I;;i Ee-tnes found in one complete sel ol chromosome
0 separate i
e e DNE] different sized fragment of charge bearng polyme
D Grows single cell or a gig '
aseplic condilions LR I AR Ll

179. Transgenic organisms:

181.

; II:::E e 1oTeIgN gene inserted jngg e

* an wmport;
C Arwe mnsﬂel:eL LT,::,I-:I“': the large scale preduction of medicinal producls
D Allol (he above 8110 humans

B Pamers
c DHA "agmﬁmls
D Ribonucleolides

The end product of g
A [thanol ang ﬂlllhr:rf;;j;ﬂl in anaorobic resplration Is:
B Laclale 0 11

C Pyruvale

D Acetyl CoA
06248
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lang I w"lch ——my ..'i,";'.:"-"h;‘ PRt A P m—
LT of ‘
A e e foy

f owing Is not . .

B h‘:_-"h' Ui for g st |.ﬂ___"“"'“ 1o enveloped ¥Irus

c = prqvélnl'-e 1 Shindive |y “un ¢

2Y are tolerant 1o WO ey, b

F—"\'Efnpe 18 derved lom hoyy

m which of

Numg
fous opportunistic disegs k a peruon syffering M0
the following discases? % mignt anac ¢

Measies

Influsnza
C  Hepamns A
AlRSs

e complete. mature and infociigy, virys particlo is known 3.

Vienome
. Genome
C  Vinon
D Capsd

Which of the following is NOT TRyg aboyt Human Imm unodeficiency virus (HIV)?
A tis a relrovitus

B Itis surrounded by an envelope

C It does nol cause AIDS

D 1t causes deficiency of the human mmune SySiem

Select a method which causes the pxigation of chemical constitugn
cell:

A Sleam

tof a bacterial

B. Dry heal
C. Filiration
D  Radianon

Which of the following is TRUE about the structure of a typical bacteriym?
A It has cell wall

B. It has cyloplasm

C It has genelic matenal

D Allaf the above

188. Red algae do not contribule towards:
A Making coral reels
B Forming limestone deposits
C Making fertilizers
D Ferming chalk deposits

189. Which of the following is TRUE about Amoebae?
A They have flagella

B They are mulucellular
C  They do not cause any disease in humans

D They move by forming specialized Cyloplasmic projections called pseudopodia

0. The directional movement toward or away from the stimulus is called:

A  Tropism
B Orientation
C. Taxis

D Non onentation
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9. Photophosphorylation takes place In the
Stroma
B  Granum

C Inner membrane
D Quler membrane

192. Select an anamniote from the {ollowing:

A Snake
B. Parmal
C. Freg

0 Crocodile

193. In roots the, apoplast pathway of waler is disruptod whe

A Plasmodesmaln

B. Endodermis
C Corex
D Pih
194. Regarding structure of the human heart, Chordag tendina
A Alrla
B. Pulmonary valve
C. Veniricles

D, Aortic valve

195. The only vein in the human body carrying oxygenated bl

A Femoral
B Pulmonary
C Renal

D llae

ol tho chloroplasts:

n water reaches:

o are present In:

ood Is:

196. The calls which play very important role in develeping immunity are :

A, Monocyles

B Neulrophils

C Lymphocyles
D. Thrombocyles

197. Which of the following blood vessels have the highest pressure of blood?

A Aora
B Pulmonary arleries

C. Pulmonary veins
D. Vena Cava

198. Auloimmune diseases act at the principle of:
A Sell againsl anligens
B. Anligen against sell

C. Self against sell
D. Anligen self-deslroyed

In human heart, the left atrium receives:
A The supenor Vena Cava
B. The inlenor Vena Cava

C The coronary sinus
D The four pulmonary veuns

198.

200. Antibodies are manulaclured in;

A T Lymphocyles
B Red Blood Cells

C Platelels
D B Lymphocyles
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